mmenii0/8 > R A

MR BE
R | HRE AR | R | BRE | RHREE

13 KB WR | BESR

LCKO1 N 6
TGKO2 PDEE a c5 GCr15 58~62HRC

O HBE: FREKLTIIRREEN LER R EHES~ 5. o

IRIRRE: SUREIRIEIR

L1
0
Lz T e Ls-02 z
o - == a'3% |°%
2 — 2
a - ) A
1y
!
Il
;

A 10 B
L
IBIESEL: IR AR
L1
LT, 2y L3-02 3
& B et

A 10 B
L =
MR S—0/
BE R/NEAN RBREAT RBKRIEE
— —
EIER ME R MERE | EAHE
e (KN) (KN) | 1BB(N.m)
53 = | B2 L A B
e BIE |\ 5o pco d | H|L] | T] S| os|Ls|alb|Sh|Cor| CtyCot
i) o @) | ) @h) | &%) | @) | &)
SHEE
2 ) 15| 29| 23 17 13 0.75|1.2
2 iR AR
Lckot| 6 |4 — z 087 1451 12| 27(1.5/1.20.86| 1.4 | 2.2 | 1.6
SR ki 14| 27| 21 3.4 16 4
10 (RN 23 [11.5 0.95(1.6
90~250 | 40~125 | 40~125
2 Sxmm| 16] 30| 24 18| 17 [13 0.85|1.6
Lcko2| 8 | 4 BRRH | 21/ 39| 3145|2328 |23 | 5|26 |42 |45/30|0.0[1.51.2 | 1.9| 4.1 3.1
ihET
12 wenr | 18(31( 25 |3.4| 20| 2717 | 4 |22 |4
B A+B+10=L
BE SINERN @ =M 2 ESHA
ﬁ; o B [EaE|SE| A B # BE [ 15| o=
x| @ (L2 @0 | 4ETs | 4TS ot [100% B
EREFT 6 FEUAGTD)

LCKO1—6—2—L150— A70—B70



	页 18

